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51) If 1 1 2
tan x 2cot x ,

3

  
   then x = 

1) 2   2) 3  

3) 3  4) 
3 1

3 1




 

 

52) n n 210 3 (4 ) 5   is divisible by (n N)  

1) 17  2) 9 

3) 5  4) 7 

 

53) Lines OA and OB are drawn from O with 

direction cosines proportional to (1, -2,-1) and (3,-

2,3) respectively. What are the direction ratios of 
the normal to the pane AOB? 

1) (4,3,2)  2) (-4,3,-2) 

3) (4,-3,-2)  4) (4,3,-2) 
 

54) 
/2

3

0
cos sin d



     

1) 
8

21


  2) 

20

21


 

3) 
8

21
  4) 

20

21
 

 

55) Which of the following is a statement? 

1) Two plus two is four 

2) Switch on the fan 

3) Do your homework 

4) Open the door 

 

56) If the first term of an A.P. be 10, last term is 50 

and the sum of all the terms is 300, then the 

number of terms are 

1) 15  2) 10 

3) 8  4) 5 

 

57) An automobile driver travels from plane to a 
hill station 120 km distant at an average speed of 

30 km per hour. He then makes the return trip at 

an average speed of 25 km per hour. He covers 

another 120 km distance on plane at an average 

speed of 50 km per hour. His average speed over 
the entire distance of 360 km will be 

1) 
3

1 1 1

30 25 50
 

 km/hr 

2) 
30 25 50

3

 
 km/hr 

3) 

1

3(30, 25, 50)  

4) None of these 

58) The locus of the centre of a circle which 
touches externally the circle 

2 2x y 6x 6y 14 0      and also touches the y-

axis, is given by the equation 

1) 2y 10x 6y 14 0     

2) 2y 6x 10y 14 0     

3) 2x 10x 6y 14 0     

4) 2x 6x 10y 14 0     

 

59) The equation 
2 24x 12xy 9y 2gx 2fy c 0       will represents 

two real parallel straight lines, if 

1) g = 2, f = 3, c is any number. 
2) g = 4, f = 9, c = 0 

3) g = 2, f = 3, c = 1 

4) g = 4, f = 9, c >1 

 

60) If a set has 2n 1  elements, then the number 

of subsets of this set containing more than n 

elements equals to: 

1) 2n2   2) n 12   

3) n2   4) n 12 
 

 

61) What is the value of 
2x 0

2 1 cosx
lim

sin x

 
? 

1) 
1

8 2
  2) 

1

2 2
 

3) 
1

4 2
  4) 

1

4 2
  

 

62) Two dice are thrown. The probability that the 

sum of numbers appearing is more than 10, is 

1) 
1

6
  2) 

1

12
 

3) 1/18  4) None of these 

 

63) If AO OB BO OC,    then A, B, C form 

1) right angled triangle. 

2) equilateral triangle. 

3) line. 
4) isosceles triangle. 

 

64) The equation of the lines on which the 

perpendiculars from the origin make o30  angle 

with x-axis and which form a triangle of area 
50

3
 

with axes, are 

1) 3x y 10 0    2) x 3y 10 0    

3) x 3y 10 0    4) None of these 



 

 

 

 

65) What is the solution of differential equation 

 
 

2 2tydy dy
t 1 ty ...

dt 2 ! dt

 
     

 
 ? 

1)  
2

y log t C    2)  
2

y log t C   

3) y log t C   4) yty t C   

 

66)  Find the value of 
2x

2x

e 1
dx

e 1




   

1) x xlog e e C   2) x xlog e e C   

3) 2xlog 1 e C   4) 2xlog e 1 C   

 

67) The centroid of the triangle formed by joining 
the feet of the normals drawn from any point to the 

parabola 2y 4ax , lies on 

1) tangent at vertex. 2) latus rectum. 

3) directrix. 4) axis. 

 

68) 
3

sin sin
10 10

    
   

   
 

1) - 1/2  2) 1/4 

3) 1/2  4) 1 

 

69) The larger of 50 5099 100  and 50101  is 

1) 50101    

2) 50 5099 100  

3) Both are equal  

4) None of these 

 

70) General solution of tan5 cot2    is 

1) 
n

, n Z
7 3

 
     2) 

n

7 2

 
    

3) 
n

7 5

 
    4) 

n

7 14

 
    

 

71) Find the value of m, at which the sum 
m

i 0

10 20
,

i m i


   
   

   
  

p
where 0 if p q

q

  
    

  
, is 

maximum2. 

 

72) If 1 2z ,z  are two com plex number satisfying 

1 2
1

21

z 3z
1, z 3,

3 z z


 


 then 2z ?  

 

73) If 

1 1 1

A 0 2 3 ,

2 1 0

 
 

 
 
  

  B adjA and C 5A, then 

evaluate 
adjB

C
. 

 

74) Find the sum of the non-real roots of 

   2 2x x 2 x x 3 12     . 

 

75) A class has 175 students. The following table 

shows the number of students studying one or 

more of the following subjects. Maths(M), Phys. (P), 

Chem. (C) 

n(M) 100,n(P) 70,n(C) 46.    

n(M P) 30,n(M C) 28,n(P C) 23,n(M P C) 18.        

Are there students who have not offered any of 
Chemistry, Physics or Mathematics? 

 

 




